The shuffle variant of a Diophantine equation of Miyazaki and Togbé

by

ELIF KIZILDERE⁽¹⁾, GÖKHAN SOYDAN⁽²⁾, QING HAN⁽³⁾, PINGZHI YUAN⁽⁴⁾

Abstract

In 2012, T. Miyazaki and A. Togbé gave all of the solutions of the Diophantine equations $(2am-1)^x + (2m)^y = (2am+1)^z$ and $b^x + 2^y = (b+2)^z$ in positive integers x, y, z, a > 1 and $b \ge 5$ odd. In this paper, we propose a similar problem (which we call the shuffle variant of a Diophantine equation of Miyazaki and Togbé). Here we first prove that the Diophantine equation $(2am+1)^x + (2m)^y = (2am-1)^z$ has only the solutions (a, m, x, y, z) = (2, 1, 2, 1, 3) and (2, 1, 1, 2, 2) in positive integers a > 1, m, x, y, z. Then using this result, we show that the Diophantine equation $b^x + 2^y = (b-2)^z$ has only the solutions (b, x, y, z) = (5, 2, 1, 3) and (5, 1, 2, 2) in positive integers x, y, z and b odd.

Key Words: Exponential Diophantine equation, Baker's method.2010 Mathematics Subject Classification: Primary 11D61; Secondary 11J86.

1 Introduction

Denote the sets of all integers and positive integers by \mathbb{Z} and \mathbb{N} , respectively. Suppose that A, B, C are pairwise coprime positive integers. The exponential Diophantine equation

$$A^x + B^y = C^z, \quad x, y, z \in \mathbb{N}$$

$$\tag{1.1}$$

was studied for given A, B, C by many authors. So, this equation has a rich history. In 1933, the first work was recorded by Mahler, [12]. He proved the finiteness of the solutions of equation (1.1) under the assumption that A, B, C > 1. His method is a p-adic analogue of that given by Thue-Siegel, so it is ineffective in the sense that it gives no indication on the number of possible solutions. Seven years later, an effective result for solutions of (1.1)was given by Gel'fond what will become known as Baker's method, based on lower bounds for linear forms in the logarithms of algebraic numbers, [5]. Such an information has been obtained in particular instances. So, in 1956, Sierpiński proved that (x, y, z) = (2, 2, 2)is the only positive integral solution of the equation $3^x + 4^y = 5^z$, [20]. The same year, Jeśmanowicz conjectured that if A, B, C are Pythagorean numbers, i.e. positive integers satisfying $A^2 + B^2 = C^2$, then the Diophantine equation $A^x + B^y = C^z$ has only the positive integral solution (x, y, z) = (2, 2, 2), [8]. This conjecture is still open despite the efforts of many authors. Between the years 1958 and 1976, the complete solutions of equation (1.1)where A, B, C are distinct primes ≤ 17 were determined by some authors (see [6], [17] and [27]). Other conjectures related to equation (1.1) were set and discussed. One is the extension of Jeśmanowicz' conjecture due to Terai. In fact, Terai conjectured that if $A, B, C, P, Q, R \in \mathbb{N}$ are fixed and $A^P + B^Q = C^R$ where $P, Q, R \ge 2$ and gcd(A, B) = 1, then the Diophantine equation (1.1) has only the solution (x, y, z) = (P, Q, R) except for a handful of triples (A, B, C), (see [3, 11, 13, 14] and [22, 23, 24, 25, 26]). This conjecture has been proved to be true in many special cases. However, it is still unsolved in its full generality. Recently, a survey paper on the conjectures of Jeśmanowicz and Terai has been written by Soydan, Demirci, Cangül and Togbé, (see [21]).

For the special case where $A \equiv -1 \pmod{B}$ and C = A + 2, the equation takes the form

$$(tB-1)^x + B^y = (tB+1)^z, (1.2)$$

where t is a positive integer. Clearly, it suffices to consider the case where B is even. We see that the equation (1.2) has the following solutions:

$$(x, y, z) = \begin{cases} (i, 1, 1); i \ge 1, (j, 3, 2); j \ge 1 & \text{if } B = 2 \text{ and } t = 1, \\ (2, k+1, 2) & \text{if } t = B^k/4 \text{ with } k \ge 1, \\ (1, 1, 1) & \text{if } B = 2, \\ (1, 13, 2) & \text{if } B = 2 \text{ and } t = 45. \end{cases}$$

These solutions will be referred to as *trivial solutions*.

In 2012, Miyazaki and Togbé proved that equation (1.2) has no non-trivial solutions when t is odd, [15]. In 2016, Miyazaki, Togbé and Yuan gave the following result in [16]:

Theorem A1. Equation (1.2) has no non-trivial solutions.

Using Theorem A1, they also proved the following result:

Theorem A2. Suppose that a > 1 is an odd positive integer. Then the Diophantine equation

$$a^x + 2^y = (a+2)^z$$

has only the positive solution (x, y, z) = (1, 1, 1), whenever neither

$$a = 2^{k-1} - 1$$

with an integer $k \ge 3$ nor a = 89. If $a = 2^{k-1} - 1$ or a = 89, then the additional solutions are given by (2, k + 1, 2), (1, 13, 2), respectively.

More recently, Fu, He, Yang and Zhu in [4] considered the Diophantine equation

$$(n+2)^{x} + (n+1)^{y} = n^{z} \quad n, x, y, z \in \mathbb{N}.$$
(1.3)

They obtained the following result (For variations of equation (1.3), we refer the reader to [1] and [7]):

Theorem A3. Equation (1.3) has only one positive integer solution (n, x, y, z) = (3, 1, 1, 2).

In this work, we propose analogs of Theorem A1 and Theorem A2 which we call the shuffle variants of Diophantine equations of Miyazaki and Togbé, [15]. So, here we are interested in the following Diophantine equation

$$(an + a + 1)^{x} + (n + 1)^{y} = (an + a - 1)^{z}; n, x, y, z \in \mathbb{N},$$

where a is a fixed positive integer. According to Theorem A3, since the case a = 1 was already solved completely by Fu, He, Yang and Zhu, [4], it is clear that the above equation has a solution only if n is odd. So, we only need to consider the following Diophantine equation

$$(2am+1)^{x} + (2m)^{y} = (2am-1)^{z}; m, x, y, z \in \mathbb{N}.$$

Consider the above equation. Here, we extend Theorem A3 by proving the following result which is a shuffle variant of equation (1.2) in Theorem 1.2 of [15].

Theorem 1 (Main theorem). The Diophantine equation

$$(2am+1)^{x} + (2m)^{y} = (2am-1)^{z}$$
(1.4)

has only the solutions (a, m, x, y, z) = (2, 1, 2, 1, 3) and (2, 1, 1, 2, 2) in positive integers a > 1, m, x, y, z.

Furthermore, using Theorem 1, we prove the following result which is the shuffle variant of the equation (1.3) in Theorem 1.2 of [15].

Corollary 1. The Diophantine equation

$$b^x + 2^y = (b-2)^z \tag{1.5}$$

has only the solutions (b, x, y, z) = (5, 2, 1, 3) and (5, 1, 2, 2) in positive integers x, y, z and b odd.

2 A key lemma

The following lemma and its proof are almost the same as the key lemma in Miyazaki, Togbé and Yuan, [16]. For the convenience of the reader, we present the proof here.

For a prime number p and a non-zero integer A, we denote by $v_p(A)$ the exponent of p in the prime factorization of A.

Lemma 1. Let (a, m, x, y, z) be a solution of equation (1.4) with m > 1.

- (i) If x is odd, then $y = \frac{v_2(a)}{v_2(m)+1} + 1$.
- (ii) $2am \ge (2m)^y (x+z)^{-y}$.

Proof. Notice that

$$(2am - 1)^{z} \equiv (-1)^{z} + (-1)^{z-1} 2amz \pmod{4a^{2}m^{2}},$$
$$(2am + 1)^{x} \equiv 1 + 2amx \pmod{4a^{2}m^{2}}.$$

Taking equation (1.4) modulo $4a^2m^2$, one sees that

$$1 + 2amx + (2m)^y \equiv (-1)^z + (-1)^{z-1}2amz \pmod{4a^2m^2}.$$

Considering this congruence modulo 2m, one has $(-1)^z \equiv 1 \pmod{2m}$. Then we see that z is even as m > 1. Hence, we get

$$a(x+z) \equiv -(2m)^{y-1} \pmod{2ma^2}.$$

Using the above congruence, if a prime factor p of 2m satisfies

$$v_p(x+z) < v_p(a) + v_p(2m),$$

then we obtain

$$v_p(a) = (y-1)v_p(2m) - v_p(x+z).$$
(2.1)

- (i) Putting p = 2 in (2.1) completes the proof of this case.
- (ii) Using (2.1), one obtains

$$\begin{split} a &\geq \prod_{\substack{p \text{ prime, } p \mid 2m, \\ v_p(x+z) < v_p(a) + v_p(2m)}} p^{v_p(a)} \\ &= \prod_{\substack{p \text{ prime, } p \mid 2m, \\ v_p(x+z) < v_p(a) + v_p(2m)}} p^{(y-1) v_p(2m) - v_p(x+z)} \\ &= (2m)^{y-1} S^{-(y-1)} \prod_{\substack{p \text{ prime, } p \mid 2m, \\ v_p(x+z) < v_p(a) + v_p(2m)}} p^{-v_p(x+z)}, \end{split}$$

where

$$S = \prod_{\substack{p \text{ prime, } p \mid 2m, \\ v_p(x+z) \ge v_p(a) + v_p(2m)}} p^{v_p(2m)}$$

Moreover, since $S \leq x + z$, one gets

$$S^{y-1} \prod_{\substack{p \text{ prime, } p \mid 2m, \\ v_p(x+z) < v_p(a) + v_p(2m)}} p^{v_p(x+z)} \le (x+z)^y.$$

The required inequality follows from all these.

3 Auxiliary results

For an algebraic number α of degree d over \mathbb{Q} , we define the absolute logarithmic height of α by the following formula:

$$h(\alpha) = \frac{1}{d} \left(\log |a_0| + \sum_{i=1}^d \log \max\{1, |\alpha^{(i)}|\} \right),\$$

where a_0 is the leading coefficient of the minimal polynomial of α over \mathbb{Z} , and $\alpha^{(1)}, \alpha^{(2)}, \ldots, \alpha^{(d)}$ are the conjugates of α in the field of complex numbers.

Let α_1 and α_2 be real algebraic numbers with $|\alpha_1| \ge 1$ and $|\alpha_2| \ge 1$. Consider the linear form in two logarithms

 $\Lambda = \beta_2 \log \alpha_2 - \beta_1 \log \alpha_1,$

where β_1 and β_2 are positive integers.

We rely on the following result due to Laurent, [9]:

Proposition 1. [9, Corollary 2] Suppose that $\alpha_1 > 1$, $\alpha_2 > 1$ are rational numbers which are multiplicatively independent. Then we have

$$\log |\Lambda| \ge -25.2 \cdot h(\alpha_1) h(\alpha_2) \max\{\log \beta' + 0.38, 10\}^2$$

where

$$\beta' = \frac{\beta_1}{h(\alpha_2)} + \frac{\beta_2}{h(\alpha_1)}$$

Proposition 2. [2, Table 1] Let k > 3 be a positive integer. Then the Diophantine equation

 $x^2 + y^k = z^4; \quad x, y, z \in \mathbb{N}$

has no solutions with gcd(x, y) = 1.

We also need the following result due to Le [10].

Proposition 3 ([10]). The solutions of the equation $\mathbf{1}$

 $U^2 + 2^k = V^l; \quad U, V, k, l \in \mathbb{N}, \ gcd(U, V) = 1, \ l \geq 3$

are given by (U, V, k, l) = (5, 3, 1, 3), (7, 3, 5, 4), (11, 5, 2, 3).

4 Proof of Theorem 1

In this section, we prove Theorem 1. We separate the cases y = 1 and y > 1. It is easy to see that z > x.

4.1 The case y = 1

Here, we consider equation (1.4) where m > 1 and m = 1, respectively.

4.1.1 The case m > 1

Reducing equation (1.4) modulo 2m, we get $1 + 0 \equiv (-1)^z \pmod{2m}$. Hence, $2 \mid z$. Considering (1.4) modulo 2am, we obtain $1 + 2m \equiv 1 \pmod{2am}$, a contradiction with a > 1.

4.1.2 The case m = 1

When m = 1, equation (1.4) becomes

$$(2a+1)^{x} + 2 = (2a-1)^{z}.$$
(4.1)

If $2 \mid z$, reducing equation (4.1) modulo 2a, we get a = 1, which contradicts the assumption that a > 1. If $2 \nmid z$, considering equation (4.1) modulo 2a, one gets $2a \mid 4$. Since a > 1, we have a = 2. When a = 2, equation (4.1) becomes $5^x + 2 = 3^z$ which has only the solution (x, z) = (2, 3) by [17, Theorem 3]. Since this is the desired solution of equation (1.4), the proof of the case y = 1 is completed.

4.2 The case y > 1

4.2.1 The case $2 \mid x \text{ and } 2 \mid z$

Suppose that x = 2X and z = 2Z. From equation (1.4), we introduce two even positive integers P and Q as follows:

$$(2m)^y = PQ, (4.2)$$

where

$$P = (2am - 1)^{Z} + (2am + 1)^{X}, \ Q = (2am - 1)^{Z} - (2am + 1)^{X}.$$
(4.3)

Since Q is congruent to 0 or -2 modulo 2am, one has $PQ > (2am - 1)^Z \cdot (2am - 2)$. Since $Z = z/2 > x/2 = X \ge 1$, one obtains $(2am - 1)^Z \cdot (2am - 2) \ge (2am - 1)^2 \cdot (2am - 2)$. Hence $(2m)^y > (2am - 1)^2 \cdot (2am - 2) > (2m)^3$ because a > 1. So, y > 3 and by Proposition 2, we obtain $2 \nmid Z$, whence $Z \ge 3$.

By equation (4.3), we see that gcd(P,Q) = 2 and $P + Q \equiv 2 \pmod{4}$, so P/2 and Q/2 are integers of different parities. Further Q/2 is coprime to m. Since $2^{y-2}m^y = (P/2)(Q/2)$ and Q/2 is coprime to m, it follows that only Q/2 = 1 or $Q/2 = 2^{y-2}$ are possible.

• The case $2 \mid am$.

Consider equation (1.4) for the case $2 \mid am$. When $2 \mid am$, $Q/2 \equiv -1 \pmod{am}$, only the case Q = 2 is possible. Hence, one has

$$(2am-1)^{Z} - (2am+1)^{X} = 2, \quad (2am-1)^{Z} + (2am+1)^{X} = 2^{y-1}m^{y}.$$
(4.4)

Now consider equation

$$(2am - 1)^Z - (2am + 1)^X = 2. (4.5)$$

Taking (4.5) modulo 2am, one finds that 2am divides 2 or 4, so that a = 2, m = 1. Hence equation (4.5) becomes

$$3^Z - 5^X = 2. (4.6)$$

By [19, Theorem 6], one sees that equation (4.6) has only the solution (X, Z) = (2, 3), namely, equation (4.5) has only the solution (a, m, X, Z) = (2, 1, 2, 3). However, this contradicts the second equation in (4.4).

• The case $2 \nmid am$.

Consider equation (1.4) for the case $2 \nmid am$. We first deal with the case $2 \nmid X$. By the former case, we know that equation (4.5) has no solutions. Thus, one gets

$$(2am-1)^Z + (2am+1)^X = 2m^y, \ 2 \nmid m.$$

Reducing the above equation modulo 4, we obtain

$$2am(X+Z) \equiv 2 \pmod{4},$$

which is impossible since $2 \nmid XZ$.

Now we consider the case $2 \mid X$. Then we have

$$Q = (2am - 1)^Z - (2am + 1)^X = 2$$
 or 2^{y-1} .

Applying Proposition 3, we see that the above equation has no solutions with $2 \mid X$.

248

4.2.2 The case $2 \nmid \gcd(x, z)$

In this subsection, we consider the case $2 \nmid \gcd(x, z)$. Moreover, we consider the cases m = 1 and m > 1 separately.

• The case m = 1.

Consider the following Diophantine equation

$$(2a+1)^{x} + 2^{y} = (2a-1)^{z}; \ y > 1, \ 2 \nmid \gcd(x,z).$$

$$(4.7)$$

If $2 \mid x$, then by Proposition 3, we get a = 2, x = 2 and y = 1. Hence we suppose that $2 \nmid x$. If $2 \nmid a$, then $2a + 1 \equiv 3 \pmod{4}$ and $2a - 1 \equiv 1 \pmod{4}$, we get a contradiction reducing equation (4.7) modulo 4.

If $2 \mid a$, then reducing equation (4.7) modulo 4, we get $2 \mid z$. Reducing modulo *a*, we get $2^y \equiv 0 \pmod{a}$, so $a = 2^u$, $u \ge 1$. Further, we have

$$2a(x+z) \equiv -2^y \pmod{2a^2}.$$

It follows that u = y - 1. Equation (4.7) becomes

$$(2^y + 1)^x + 2^y = (2^y - 1)^z.$$

By Theorem A3, we get the solution (x, y, z) = (1, 2, 2). Since this is the desired solution of equation (1.4), the proof of the case m = 1 is completed.

• The case m > 1.

Since m > 1, considering equation (1.4) modulo 2m, one gets $1 \equiv (-1)^z \pmod{2m}$, so z is even. Hence, since we are in the case $2 \nmid \gcd(x, z)$, we conclude that x must be odd.

Now we will observe that this leads to a contradiction. By Lemma 1 (i), we have

$$y = \frac{v_2(a)}{v_2(2m)} + 1 \le v_2(a) + 1 \le \frac{\log a}{\log 2} + 1.$$
(4.8)

In what follows, we put

$$A = 2am + 1$$
, $C = 2am - 1 (= A - 2)$

We separately consider the cases $A^x \leq (2m)^y$ and $A^x > (2m)^y$.

(i) The case $A^x \leq (2m)^y$

Now we suppose that $A^x \leq (2m)^y$. Since $A^x < C^z \leq 2(2m)^y$ and $2m \geq 4$, by (4.8), we have

$$z \le \frac{\log 2 + \left(\frac{\log a}{\log 2} + 1\right) \log 2m}{\log(2am - 1)} < 1.5 \log(2m).$$

Recall that z > x. If z = 2, then x = 1 and equation (1.4) becomes $2am + 1 + (2m)^y = 4a^2m^2 - 4am + 1$. Hence, one gets

$$(2m)^{y-1} = a(2am - 3). (4.9)$$

Note that 2am - 3 > 3 since a > 1 and m > 1. Also, $3 \mid m$ as gcd(2m, 2am - 3) > 1. Dividing the above equation by 3 leads to

$$2^{y-1}3^{y-2}(m/3)^{y-1} = a(2a \cdot m/3 - 1).$$

It is easy to see that $2^{y-1}(m/3)^{y-1} \mid a$, so that

$$3^{y-2} = \frac{a}{2^{y-1}(m/3)^{y-1}} \cdot (2a \cdot m/3 - 1).$$

Since $gcd(\frac{a}{2^{y-1}(m/3)^{y-1}}, 2a \cdot m/3 - 1) = 1$, and $2a \cdot m/3 - 1 > 3/3 = 1$, one has

$$\frac{a}{2^{y-1}(m/3)^{y-1}} = 1, \ 2a \cdot m/3 - 1 = 3^{y-2}.$$

This implies that $(2m/3)^y - 1 = 3^{y-2}$. It is easy to see that this equation does not hold. Thus, one has

$$4 \le z \le \lfloor 1.5 \log(2m) \rfloor \tag{4.10}$$

which implies that $m \ge 8$. Moreover, equation (1.4) easily yields $(2m)^y > a(2m)^z$ and then one gets

$$y > z \ge 4. \tag{4.11}$$

Since Lemma 1 (ii) and the inequality (4.10) imply that

$$\left(\frac{m}{\lfloor 1.5 \log(2m) \rfloor}\right)^y < C+1 \le (2m)^{y/z} \cdot 2^{1/z} + 1 < 1.5(2m)^{y/z},$$

we have

$$z < \frac{\log(2m)}{\log(m) - \log\left(1.5^{1/y} \lfloor 1.5 \log(2m) \rfloor\right)}.$$
(4.12)

In view of (4.10), (4.11) and (4.12), we have

$$m = 8, \quad z = 4, \quad x \in \{1, 3\}.$$

If z = 4, x = 1 and m = 8, then equation (1.4) becomes

$$a(4096a^3 - 1024a^2 + 96a - 5) = 2^{4y-4}.$$
(4.13)

Hence one obtains $a = 2^{4y-4}$ and $4096a^3 - 1024a^2 + 96a - 5 = 1$. Taking the second inequality modulo 4 yields a contradiction.

If z = 4, x = 3 and m = 8, then equation (1.4) becomes

$$a(4096a^3 - 1280a^2 + 48a - 7) = 2^{4y-4}.$$
(4.14)

Similarly to the former case, we get that $4096a^3 - 1280a^2 + 48a - 7 = 1$. Taking this equality modulo 16 yields a contradiction.

(ii) The case $A^x > (2m)^y$

E. Kızıldere, G. Soydan, Q. Han, P. Yuan

Here, we suppose that $A^x > (2m)^y$. Then one gets $(2am + 1)^x > \frac{1}{2}(2am - 1)^z$ or

$$2 > \left(\frac{2am - 1}{2am + 1}\right)^{x} \cdot (2am - 1)^{z - x}$$

Since $z - x \ge 1$, we have

$$e < (2am-1)^{z-x}/2 < \left(\frac{2am+1}{2am-1}\right)^x < e^{\frac{2x}{2am-1}},$$

which implies that $x > \frac{2am-1}{2}$. Thus,

$$x \ge am.$$

Recall that x is odd. By (4.8), we have $y \leq v_2(a) + 1$. Thus,

$$y \log(2m) \le (v_2(a) + 1) \log(2m) \le a \log(2m) < \frac{am}{2} \log(2m) \le \frac{x}{2} \log A,$$

and we have $(2m)^y < A^{x/2}$. Thus, $C^z = A^x + (2m)^y < A^x + A^{x/2}$, i.e.,

$$C^{z-x} < \left(\frac{2am+1}{2am-1}\right)^x \left(1 + A^{-x/2}\right).$$

All solutions with $z \in \{2, 4\}$ have been found in the case $A^x < (2m)^y$. Since $C = 2am - 1 \ge 2 \cdot 2 \cdot 2 - 1 = 7$ and $x \ge 5$, we have

$$(z-x)\log C < x\log\left(1+\frac{2}{C}\right) + \log\left(1+A^{-x/2}\right) < x\left(\frac{2}{C}-\frac{4}{3C^2}\right) + A^{-x/2} < \frac{2x}{C}.$$

Therefore, we get

$$x > \frac{C\log(C)}{2} (z - x).$$
(4.15)

Put

$$\Lambda = z \log C - x \log A \ (>0).$$

Since $\Lambda < \exp(\Lambda) - 1 = (2m)^y / A^x < A^{-x/2}$, one has

$$\log \Lambda < -(x/2)\log A.$$

On the other hand, to find a lower estimate of log Λ , we apply Proposition 1 with $(\alpha_1, \alpha_2) = (C, A)$ and $(\beta_1, \beta_2) = (z, x)$. Hence, we obtain

$$\log \Lambda > -25.2 \left(\log A\right) (\log C) \left(\max\{\log \beta' + 0.38, 10\}\right)^2$$

where $\beta' = \frac{x}{\log C} + \frac{z}{\log A}$. Since $2A^x > C^z$, the inequality $\beta' < \frac{2x}{\log C} + 1$ gives $s < 50.4 \left(\max\{ \log(2s+1) + 0.38, 10\} \right)^2$,

where $s = x/\log C$. This implies that s < 5040. Therefore, by (4.15), one gets A < 10082. From here, using (4.8) and $m \ge 2$, one gets $y \le 6$ when m is even, and $y \le 11$ when m is odd. We claim that

$$A < 5044.$$
 (4.16)

Assume for a contradiction that (4.16) does not hold, so $A \ge 5044$. Then, (4.15) gives $x \ge 21493$. Since $y \le 11$, we see that $A^x > (2m)^{1953y}$ clearly holds. Since $A < \exp(\Lambda) - 1 = (2m)^y / A^x < A^{-1952x/1953}$, one has

$$\log \Lambda < -(1952x/1953)\log A.$$

Using Proposition 1 as above, we get

$$s < 25.2 \times \frac{1953}{1952} \left(\max\{ \log(2s+1) + 0.38, 10\} \right)^2$$

where $s = x/\log C$. This implies that s < 2522 and A < 5044 which is the desired contradiction. Hence, (4.16) holds. Note that $y \leq 10$ by (4.8) and the same argument as before.

Finally, we show that

$$x < 2522 \log(A - 2)$$
 or $x \le 1300y.$ (4.17)

If x > 1300y, then $A^x > (2m)^{1300y}$, which implies that s < 2522, that is, (4.17) holds.

We can check that equation (1.4) does not hold for any (a, m, x, y, z) satisfying all (4.8), (4.15), (4.16), (4.17) and $y \leq 10$. For this, a program was written in PARI/GP, [18], and it took about 1 hour to run the program for each value of y with the restriction $a \mid (2m)^{y-1}$. This completes the proof of Theorem 1.

Acknowledgement. We would like to thank the referees for carefully reading our paper and for giving such constructive comments which substantially helped improving the quality of the paper. The first and second authors would like to thank Professor Takafumi Miyazaki for drawing their attention to this problem. The second author would like to thank Dr. Paul Voutier for giving us useful ideas for speeding up our PARI-GP program. This work was started when the first and second authors participated to the conference "Diophantine *m*tuples and related problems-II" on 15–17th October, 2018 in Purdue University Northwest, Westville/Hammond, in USA. They would like to thank Professors Bir Kafle and Alain Togbé for this nice organization and their kind hospitality and were supported by TÜBİTAK (the Scientific and Technological Research Council of Turkey) under Project No: 117F287. The fourth author was supported by NSF of China (No. 11671153) and NSF of Guangdong Province (No. 2016A030313850).

References

- [1] H. BAI, E. KIZILDERE, G. SOYDAN, P.-Z. YUAN, On the exponential Diophantine equation $(n-1)^x + (n+2)^y = n^z$, Colloq. Math., 161, 239–249 (2020).
- [2] M. A. BENNETT, I. CHEN, S. R. DAHMEN, S. YAZDANI, Generalized Fermat equations: A miscellany, Int. J. Number Theory, 11, 1–28 (2015).

- [3] Z.-F. CAO, A note on the Diophantine equation $a^x + b^y = c^z$, Acta Arith., **91**, 85–93 (1999).
- [4] R.-Q FU, B. HE, H. YANG, H. ZHU, On some ternary pure exponential Diophantine equations with three consecutive positive integers bases, *Proc. Indian Acad. Sci. Math. Sci.*, **129**, 1–12 (2019).
- [5] A. O. GEL'FOND, Sur la divisibilité de la différence des puissances de deux nombres entiers par une puissance d'un idéal premier (French), Math. Sbornik N. S., 7, 7–25 (1940).
- [6] T. HADANO, On the Diophantine equation $a^x = b^y + c^z$, Math. J. Okayama Univ., **19**, 25–29 (1976/77).
- [7] B. HE, A. TOGBÉ, The exponential Diophantine equation $n^x + (n+1)^y = (n+2)^z$ revisited, *Glasgow Math. J.*, **51**, 659–667 (2009).
- [8] L. JEŚMANOWICZ, Some remarks on Pythagorean numbers, Wiadom Math., 2, 196– 202 (1955/56).
- [9] M. LAURENT, Linear forms in two logarithms and interpolation determinants II, Acta Arith., 133, 325–348 (2008).
- [10] M.-H. LE, On Cohn's conjecture concerning the Diophantine equation $x^2 + 2^m = y^n$, Arch. Math. (Basel), **78**, 26–35 (2002).
- [11] M.-H. LE, A conjecture concerning the exponential Diophantine equation $a^x + b^y = c^z$, Acta Arith., **106**, 345–353 (2003).
- [12] K. MAHLER, Zur approximation algebraischer Zahlen I: Über den grössten Primteiler binärer formen, Math. Ann., 107, 691–730 (1933).
- [13] T. MIYAZAKI, Exceptional cases of Terai's conjecture on Diophantine equations, Arch. Math. (Basel), 95, 519–527 (2010).
- [14] T. MIYAZAKI, Terai's conjecture on exponential Diophantine equations, Int. J. Number Theory, 7, 981–999 (2011).
- [15] T. MIYAZAKI, A. TOGBÉ, The Diophantine equation $(2am-1)^x + (2m)^y = (2am+1)^z$, Int. J. Number Theory, 8, 2305–2044 (2012).
- [16] T. MIYAZAKI, A. TOGBÉ, P.-Z. YUAN, On the Diophantine equation $a^x + b^y = (a+2)^z$, Acta Math. Hungar., 149, 1–9 (2016).
- [17] T. NAGELL, Sur une classe d'équations exponentielles, Ark. Math., 3, 569–582 (1958).
- [18] The PARI Group PARI/GP, version 2.13.1, Université de Bordeaux (2021), http://pari.math.u-bordeaux.fr.
- [19] R. SCOTT, R. STYER, On $p^x q^y = c$ and related three term exponential Diophantine equations with prime bases, J. Number Theory, **105**, 212–234 (2004).

- [20] W. SIERPIŃSKI, On the equation $3^x + 4^y = 5^z$, Wiadom Math., 1, 194–195 (1956).
- [21] G. SOYDAN, M. DEMİRCİ, I. N. CANGÜL, A. TOGBÉ, On the conjecture of Jeśmanowicz, Int. J. App. Math. Stat., 56, 46–72 (2017).
- [22] N. TERAI, The Diophantine equation $x^2 + q^m = p^n$, Acta Arith., 63, 351–358 (1993).
- [23] N. TERAI, The Diophantine equation $a^x + b^y = c^z$, Proc. Japan. Ser. A Math. Sci., **70**, 22–26 (1994).
- [24] N. TERAI, The Diophantine equation $a^x + b^y = c^z$ II, Proc. Japan. Ser. A Math. Sci., **71**, 109–110 (1995).
- [25] N. TERAI, The Diophantine equation $a^x + b^y = c^z$ III, Proc. Japan. Ser. A Math. Sci., 72, 20–22 (1996).
- [26] N. TERAI, Applications of a lower bound for linear forms in two logarithms to exponential Diophantine equations, Acta. Arith., 90, 17–35 (1999).
- [27] S. UCHIYAMA, On the Diophantine equation $2^x = 3^y + 13^z$, Math. J. Okayama Univ., **19**, 31–38 (1976).

Received: 03.09.2020 Revised: 01.05.2021 Accepted: 11.05.2021

> ⁽¹⁾ Department of Mathematics, Bursa Uludağ University 16059 Bursa, Turkey E-mail: elfkzldre@gmail.com

> ⁽²⁾ Department of Mathematics, Bursa Uludağ University 16059 Bursa, Turkey E-mail: gsoydan@uludag.edu.tr

(3) Faculty of Common Courses, South China Business College of Guangdong University of Foreign Studies 510545 Guangzhou, China E-mail: 46620467@qq.com

⁽⁴⁾ School of Mathematics
 South China Normal University
 510631 Guangzhou, China
 E-mail: yuanpz@scnu.edu.cn